Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER - 2(CtoD) New — EXAMINATION — Winter-2024

Subject Code: C4300020 Date: 06-01-2025
Subject Name: Engineering Material
Time: 10:30 AM TO 12:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of simple calculators and non-programmable scientific calculators are permitted.
5. English version is authentic.
6. Use only OMR to answer this question paper.
No.  Question Text and Option. U8l A4l [Aseyl.
1. The temperature at which oil solidifies while cooling is called
A. Cloud Point B. Pour point
C. Flash point D.  Viscosity
1L 6IRQUeT] UlSUIHLL % dluHla w16 ol 501 e da s&dIY.
A 5d1GSUlee2 B.  UlRRUlge
C. sdQlulye D.  [ReldHdl
2. The solution which permits flow of current is called .
A.  Stress cell B. Non electrolyte
C. Electrolyte D.  Composition cell
R B ¢ldul [Aydudlea YR Udl t & dal 5&dlY 8.
A RuAg B. <ld §as2lalee
C. paseldle’ D. sulylelsd A9
3. Hyper Eutectic Cast Iron contains what percentage of carbon.
A 25% B. 3t04%
C. 4.3% D. 43t06.7%
3. SlUUR Y5215 Sl AIUsAH| Slolels] UHIQL
A 25% B. 3t04%
C. 4.3% D. 43t067%
4. Among the following bonds which is the Strongest ?
A. Metallic Bond B. Hydrogen Bond
C. lonic Bond D. Dispersion Bond
¥, il e2lldd oitell usiRAuiell Alell Hooyd oiy sUl B 2
A. Rellas oy B.  &losls vy
C. R[5 uiy D.  (Swusoiy
5. are conductors of heat and electricity.
A. Metals B. Ceramics
C. Semi conductors D.  Polymers
u. GuL Glowl U [Agd Glostetl dles 8.
A, ylduil B. [RRUMSs
C. wddqles) D. el
6.  Example of refractory material is .
A. Dolomite B. Silica bricks
C. Fire bricks D.  Allof above
€ GWIYS Uslels] Gelsrl 8.
A Slalge B. [last (s
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0.

11.

11.
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1.

13.

13.

14.

1%.

15.

U,

C. 5l (wsy

Sodium chloride (NaCl) is which chemical bond example ?

A. Metallic Bond

C. lonic Bond

U [SUH sE1RABS SULRUWUMUS itlef GeleWL B 2

A Rellgsoiy

C. R[5 0iy

Medium carbon steel contains
A. 0.05% to 0.15%

C. 0.8%102.0%

% carbon.

HelY USIRell Slodet W1GHi 510{elo] UHIGL

A. 0.05% ] 0.15%
C. 0.8% ¥l 2.0%

Density of iron is

is not a plastic material.

Wles HleRud «1¢f]

A. 896
C. 7.87
Aluisei] teldl
A. 896

C. 787

A. ABS

C. Cork

A u oAy
C. sls

Bronze is an alloy of
A. Copperand Tin
C. Aluminium and Zinc.

Gilooy A ol M8 dig & 2
A SIUR A4 Eled
C. AYM[AuH wa s

Bronze is commonly used material for

[RicaRs] (5224 Wiy RQ

A. Bearing

C. sheet

Gloo] A ML Tld
A. a3l

C. gile

Silver has

A. BCC

C. HCP

A. BCC

C. HCP

crystal structure.

Hiduge 82

Which of the following is an alloy of copper?

A. High speed steel

C. Duralumin

o[ Aeil Hlell 5191 s1uRe] (18 tid B
A. sl uils¥lg

C. grugHlel

Ability of material to be hammered to sheet is known as

A. Malleability
C. Creep

D. BURell MYl %
B. Hydrogen Bond
D.  Dispersion Bond
B. &loslue ojy
D. (Suyeloiy
B. 0.1% to 0.3%
D. 0.3% to 0.6%
% Sl 8.
B.  0.1% ¢l 0.3%
D.  0.3% ¢l0.6%
B. 9.63
D. 6.95
B. 9.63
D. 6.95
B. PVC
D. HDPE
B. 4ldl
D. ayslule
B. Aluminium and Tin
D.  Copperand Zinc
B. A)M[AyH w4 2l
D.  slU ud s
B. nut and bolt
D Pipes
B. <2 udulle
D. yley
B. FCC
D. No one from above
B. FCC
D.  GURell 518 Ul «isl
B. Brass
D. Y-alloy
B. oy
D. vadly
B. Ductility
D. Fatigue

yglela Sl udzl odellddlell Qe 9f s&dla ?
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9.

17.

19.

18.

1C.

19.

ac.

20.

0.

21.

1.

22.

.

23.

3.

24,

A Ygdl B. deldl

C. UwsWl D. &l

Total atom of B.C.C.unit cell is

A 1 B. 2

C. 3 D. 4

B.C.C <ll Y[s12 AU §a AQYeil vl Sed] elu?

A 1 B. 2

C. 3 D. 4

Melting point of iron in °C

A. 1160 B. 1341

C. 1539 D. 1593

W [Uste] NIl (G4et, 2l oA, S1Y ?

A. 1160 B. 1341

C. 1539 D. 1593

The heardest known material is

A. Ceramic B. High speed steel
C. Alloy steel D.  Diamond

Alefl du R Awid uelel dilE Sl Wiy 8 2

A [RRiMs B. elpulsilg
C. AdlyXd D. SIS

Least rate of cooling is provided by

A. Air B. Mineral oil

C. Water D. Brine solution
S0 lell AWML AN €2 el 4O B,

A edl B. [HeRe 3{log
C. ull D.  Wlelq ¢ldsl
Annealing improves of steel.

A. Hardness B. Ductility

C. Strength D.  All of above
AefldloL Ulsul Rgul YURI 2 D.

A elsay B. ssl2f@2l

C. xy D.  GURell dHIM
Which one of following is a main or primary bond?

A. Metallic Bond B. Hydrogen Bond
C. lonic Bond D.  Dispersion Bond
ol Aot iH1e] UL Hud S ylems oy 8 2

A. ellds oy B. &loslasl oiy
C.  wAl[els iy D.  (Suxet iy
Total atoms of F.C.C. unit cell is

A 2 B. 4

C. © D. 8

F.C.C. Hi2led bedl y[-ie dd &lu 8 2

A 2 B. 4

C. © D. 8

Tungsten has crystal structure.

A. FCC B. BCC

C. HCP D. NONE OF ABOVE
2ol SUL USR] R &AL R B 2

A. FCC B. BCC

C. HCP D.  GUell 816 uBl etel

Which material has higher electrical conductivity?
A. Aluminium B. Magnesium
C. lron D.  Silver
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33.

o1 Ael| HI] UL HI2RUGAL dloyalesdl dulR Sl 82

A Ay B. Qafun

C. e D. [iedR

Purpose of heat treatment of metal is :

A. Decrease hardness B. Decrease toughness

C. Increase strength D.  None of the above

tlg U (&2 Zleted Ulsul ] S1M salMi »1d 82

A UGS H2lsdl B. 2§ gelsdl

C. UMy qyRdl D.  GURell 518 Bl ol
Structure has maximum hardness.

A. Troostile B. Pearlite

C. Martensite D.  Sorbate

o[ Aei| H1ef] SU1 WelRQ ofl HwdLe deR el 82

A 2lse B. uddlge

C. YIaulve D. kA2

Chromium improves of steel.

A.  Brittleness B. Corrosion resistance

C. Ductility D.  None of the above

RlAui s HuH GHRAL AU 3ER UL B 2

A oeslduy B. sl2uldRusdl

C. deddl D.  GURsell 816 UL <1l

Softest phase of steel is :

A. Ferrite B. Pearlite

C. Bainite D. cementite

el Alell 4g 3 KU B2

A RIBR B.  Wdlee

C. uldgelee D. [R¥el8e

Leduberite has % of carbon.

A 25 B. 6.3

C. 43 D. 5.8

A3wRABeH] Sloleis ULl 3eq Slu 87

A 25 B. 6.3

C. 43 D. 5.8

The type of etchant used for Cast iron and steel specimen is

A.  Ammonia B. Nital

C. Glycerol D.  Nitric Acid

5122 (Aot Bol W\ Eetl W (AN HIS 53 BU2 dUAY B 2

A AL B. l&ed

C. qiyARNd D. dlI8[2sn[Rs

Castironis a material.

A. Ductile B. Brittle

C. Plastic D. Elastic

5122 WAl 3l UsRefl tid 82

A sseled B. [ued

C. dllRes D. wdlles

Steel with carbon above 0.8% is known as steel.

A. Hyper eutectoid B.  Hypo eutectoid

C. Eutectoid D. None of the above

0.8 % Sl duR slodel tRlddl e]de 9l s&aly 2

A elYUR Yeseles B. slyUlyeseles

C. yYeselgs D.  GUell 816 Ul =&l
Bauxite is a ore of :
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33.

34.
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35.

3U.

36.
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37.

39.

38.

3C.

39.

3e.

40.

¥o.

41.

¥,

A. Zink B. Alluminium

C. Brass D. Copper
sl 59 didell s1dl tid 8 2
A Sils B. AyM[un
C. ol D. slw
Colour of hematite is .
A. Black B. Brown
C. White D. Red
SHelyeqll s6R ddl €lU B 2
A slal B. ol
C. ude D. dl4
What is the full form of P.V.C.?
A. Polyvinyl calcium B. Polyvinyl chromic
C. Polyvinyl chloride D.  Polyvinyl cement
ULl of y el 4141,
A. Uldllasled (e B. Uldl{d«lod s1Hs
C. Uldlasied selRUss D.  uldl(caelloe [ie2
is a heat insulating material.
A. Glass B.  Ceramic
C. Mica D. glass wool
ol A1l Y HI2RUE GWLe Mdles B?
A ody B.  [RiMs
C. Hlpsl D. 24luq4
Which of the following is non-destructive test?
A. Cupping test B.  Radiography test
C. Tensile test D.  Impact test
ol Aot 1] 5¢ (Get e{a11aL (A1l ulsul & 2
A sa e B. Usulaulgl e
C. 2«dylod D. opuseex
is the semi-conductor of electricity.
A.  Wood B. Rubber
C. Plastic D.  Silicon
A (Ayd of wH-dles 82
A dlsg B. R
C. wlles D. [alasle
Wastage of material in powder metallurgy is
A. 0% B. 5%
C. 10% D. 15%
Ulds? Hegaf il HI2Ruds 326l cuy 1y 8 ?
A 0% B. 5%
C. 10% D. 15%
The lower critical point for all steel is
A. 623°C B. 823°C
C. 723°C D. 3523°C
ol % e HI2 R (52156 Ulgee 2]
A. 623°C B. 823°C
C. 723°C D. 523°C
Which material is used for making cooking utensils?
A. Stainless steel B.  Aluminium
C. Castiron D. BothA&B
R Fell Al Weilddl 53 H[2Rud dupY B 2
A, RyeldyXld B. AMluy
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46.

¥S.

47.

¥9.

48.

¥C.

49.

C. slRe sl D. udA&B
Rubber is used mainly for manufacturing of

A. gasket B.  fuel tank

C. O-ring D.  Tubes & tyres
0ReA] Hl2L 19l Gulal ol wetlceHi Ul &
A dlR%e B.  &ud 25

C. 3 D. YW &2l
The Melting Point of Aluminium is

A.  623°C B. 823°C

C. 723°C D.  660°C

AR (U [AAUuH s} AGsi(0ig, el B

A. 623°C B. 823°C

C. 723°C D.  660°C
Compared to steel, aluminum has

A. Higher strength B. Higher hardness
C. Higher Machinability D.  Low corrosion resistance
Rleef] AU MR ARy [A3u y21d 8
A G UKL B. G 5(&qldl

C. G Heild gHdl D. oIl sie uldResdl
The percentage of Iron present in Pig Iron is

A, 60% B. 70%

C. 90% D. 80%

[0 W [efHi W 1dedsf]l 25113 Bed]l lu B 2

A. 60% B. 70%

C. 90% D. 80%

Which among the following is an Organic Polymer

A. Silica B. Porcelein

C. Brass D.  Plastic

o1 co1ldd Hiell 56 A [e1s UlelH B 2

A (H[Esl B. ddle

C. ol D. wdlRes

To reduce wear of the surface is used.

A. Adhesive B. Abrasive

C. colour D.  Lubricant
YuLledl dAIR) delsdl Hie AW B

A Aséldd B. Adallug

C. s&R D. ¢gfui5e
Polymerisation is associate with

A. Stainless steel B.  Silver

C. Thermosetting Plastic D. Castiron
UlElHRIESHUe Al 1A Asn1dd B 2

A RpdY ¥ld B. [HedR

C. wlfAlRa wiRes D. sl Wt
The Percentage of Chromium in Stainless Steel Alloy

A. 6% B. 12%

C. 18% D. 24%

Roe1aY WU s1HAUs] Seq UL eld & 2

A 6% B. 12%

C. 18% D. 24%

Material which can withstand high temperature is called material.
A. Adhesive B. ceramic

C. Refractory D. Insulating
uglelofl G dlunletsfl UsetaHdl « s&dly 9.
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57.
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58.
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59.

A Usé(ug B. [MUMS

C. [R¥sell D. geyd(3al
The solution which permits flow of current is called
A. Non Electrolyte B. Electrolyte
C. Stress cell D.  Composition cell
% ¢ldQl ([Aydudlea UHIR 4dl s 8 dal 5€ 87
A. ol gas2lalee B. dascldlee
C. ¥dJd D. $Uldlee A4
Mild steel has the structure of .
A. BCC B. FCC
C. HCP D.  Noone from above
HLE5ES 2ldlef oit R 2}
A. BCC B. FCC
C. HCP D.  GURell 516 Ul ol
Tempering process always follows process.
A. Normalizing B.  Annealing
C. Hardening D.  All of the above
U(sYlel 2RI Ul5UL WA B,
A g8 B. a(doy
C. ISl D.  GUeildHH
C35 Mn75 Ni 20 steel has __ Carbon percentage.
A. 035% B. 3.5%
C. 30.5% D. 35%
C35 Mn75 Ni 20 Hi 22lde] UHLL Sy B
A. 0.35% B. 3.5%
C. 30.5% D. 35%
Which is not a part of Metallurgical microscope?
A. lris B. Eye piece
C. screw D.  Etchant
o1 Aot 1]] 58 cdaq NeaT HIS SIS\ U] G111 ofef] 2
A S B. i sl
C. % D. &
Major constituent of Phosphor bronze is__ .
A.  Zink B.  Alluminium
C. Brass D. Copper
§1386 Glloodel YU €25 3]
A HAls B. AeyMfuy
C. oy D. diy
Heating elements of electrical heaters are made of .
A. Nichrome B. Invar
C. Copper D.  Phosphor bronze
pa(52s Sledell Sl2a A2 H1el vdelladHi 419 B,
A (514 B. &«dRR
C. slw D. 51382 Glloos
Nickelis__ .
A. Dielectric B.  Ferroelectric
C. Ferromagnetic D.  Paramagnetic
EECRA 2
A. sivdlses B. ¥Rlodlses
C. HRlAAles D.  WyAAALRS
is a thermosetting plastic
A. Acrylics B. Polyethylene
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U,

66.
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67.
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C. Polystyrene D. Melamine

AR WiRes B

A A3(gs B. uldlafas
C. UldleluRs D. Aquleel
Specific heat is a property of material.
A. Thermal B. Mechanical
C. Chemical D. Magnetic
Uglelof] (colly Gwl iy ¢2lld 8.
A g B. [(W3[isq
C. 3Hsq D. Aalles
Scissors and Drill bit is made of
A. High carbon tool steel B.  steel
C. carbon D. Brass
5ldR W 9ld Ulsj Auiell weiladidiw1d & 2
A. sy sloled 2d 22ld B. ¥4
C. sloid D. Iy
Atomic packing factor is maximum for
A. BCC B. FCC

. Prism D.  Simple Cube
aa MsUl5o 5522 Hl2HedH ElU B,
A oLl B. gl
C. [u»H D. lel Yo
Compacting is a process carried out in
A. Normalizing B.  Annealing
C. Hardening D.  Powder Mettallurgy
S (589 UlsAlel GUALIL 56 UlsuMi Ul B 2
A gl B. Ad(da
C. slSl D.  ylds: Nedss]
Cermetisa material.
A. Metallic B. Plastic
C. Composite D. ceramic
U2 A sULUSReA Uelel § 2
A ellgs B. wlIlRes
C. shldlee D. [RRIls
Which one is a Thermal Properties?
A. Freezing point B.  Specific Heat
C. Spelling D.  Allof above
o1 et 11 12f] GlEHY AYle 5] B 2
A, sRQ [oig B. [(afeie Gwl
C. w[day D.  GUelldHIH
Which one is not a Physical property?
A. Lustre B.  Atomic weight
C. Porosity D.  Melting point
o1 Aot 1e]] 5AL U dQLa «ief] ?
A. yasle B. (345 en
C. [69¢lyYpdl D. ol [Gig
Which terms is related to Equilibrium diagram?
A. System B. Component
C. Phase D.  All of above
o[ Aot (H1]] sULUel Sscldlleiay siuuM A1 AsnRal 8 2

A [y B. slileie2
C. 5» D. GUeildHlH



68.

<C.

69.

SC.

70.

9o.

Tungsten improves of steel.

A. Ductility B.  Corrosion resistance
C. Weldability D.  Electricity

2312ql 2deil 56 sldd YR 8 2

A deydl B.  sleuldRlusdl

C. dgslleifall D. gasdlxel
Ammonia gas is used in process.

A. Normalizing B. Nitriding

C. Hardening D.  Powder Mettallurgy
AL o1l Guallal UlsAHi L[ B 2

A odlsiol B. dlo2lsieal

C. &lSell D.  ulgs Neds]
Magnetite is known as

A. Fe3C B. Fe304

C. Fe203, H20 D. FeCO3

AN2le2 58 Ad WA B

A. Fe3C B. Fe304

C. Fe203, H20 D. FeCO3
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